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Choose and write the correct options :

(1) The probability of obtaining an even prime number on each die,
when a pair of dice is rolled, is -

(@) 0 (b) 3
1 1
(c) E (d) 36

(1) IfA4isa nonsingular square matrix of order 3x3 and ,AI: 2, then

|aajA| is equal to -

(a) 4 (D)7
(©): 8 (d 0
= 2
(i) If g and b are two non-zero vectors, then Z-Z:— Z Z, if —
@ o=> (b) 6=0°
: 371
(C)‘ 0= (d) 9=7
(iv) If /iR —>R be defined as f(x)=x2, then
(@) f is one-one onto
(b)~ f is many one onto
(c) - f is one-one but not onto
(d) f is neither one-one nor onto
PRl b - AN
(v) The principal value of sin (—5) is -
T T
(a), 3 (b) 6
4r 2n
(c) 7 (d) 3
(vi) The'number of all possible matrices of order 2x2 with entry 0
or At is -
(a) 2 (b)E812
©) G A8 g
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(if) @ A W SR W R didtr eaT 3, A R @I,
i qen e €| -
(i) Frd vl BremdE bed @ 98 A, vﬁaﬂﬁg@sn@ffﬁaﬁ

T T, gk BreetiaE werd @ A FEard ¢
(iv);dﬁAEA%,?ﬁA@?/WW%'

\;ose —sin©
GO sme cos 0 w oA E
vi) e—x T oS - Tl

Fill in the blanks :

(i A point C in the domain of a function f at which either
f (C) = 0 or fis not differentiable is called a
,,Of if 00

(i1) A Relation R in a set 4 is said to be

: symmetrlc and transitive.

point

relaﬁon if R is reflexive,
o

(ii1) The value of an inverse trigonometric functlons which lies in its

principal value branch is called

value of that inverse
~trigonometric functions.

(iv) If A'=A, then A is called matrix;

cos ® —sinB
is

&% "~I\:/alue of sin ® cos O

(vi) Differential coefficient OfSfc NS _%
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qd a1 39 fofgu
() @ B % f e a TE p-RbRE S ¥

m cc
(ii)xésﬂﬁai;wamwlogxsﬁm%l |

(i) A& 4, my, ng AN Ly, my, ny, g BEET A A @t B A

q‘:‘- aﬁUT 0 % GEI Sin6:‘1112+m1m2+n1@' g-sﬁﬂ. %l
(V) T W foX Y TR v ¥ AR
f(xl)Zf(géi)3x1¢x2 ‘v’xl,xzeX.

v) ﬁg@usrr@aﬂtri’w{(On)@aT%l

(vi) Wﬁmﬁwwﬁaﬁwﬁww&maﬂqﬁ%m
% WY H had fhdl W Ghal Bl

Write True or False :

(1) Multlpllcat10n of diagonal matrices of same order W1ll be
commutatlver y

P

(iii) If 4, m, n and L, m,, n, are the direction cosines of two
lines and @ is the acute angle between the two lines, then

Sin 0= |1112 d'mlmz +n]an
(iv) A function f:X —>Y is one-one if

f(xl)zf(égz):>x1 ¢X2 Vxl, Xy GX.
)
(v) The range of principal value branch of cot™! is (O, n).

(vi) Any square matrix can be represented as the sum of a symmetric
and a skew symmetric matrix.

1x6=6

, £
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T S g
Lt B
dx
(1) J“az_xz
dx
(11) sz_ 2
“dx
oy e
(iv) cot_aIL o J,x>1
Vx|

/ 1-0770_D

1x7=7

L ‘ay
(a) log v —d|+e
. 2 :
(b) %m‘%log x i —a?[+e
(©) seclx
2 L |ac =l
(&
(d) a Ia—XI
1- log e Ap
il G
(C) 2a 08 qF(2]
(f) sin_1£+c
a
2
”
(@) 5m+a—sin—l£+c
2. a
1 —ijey
(b)) S ARt
a a
(DEE tan T
6

OO 0 0 1 e



Match the Correct Columns :

Column 'A' Column 'B'

W x4y -a’

C

dx
Vo= s

.o :ﬁ 2
(ii) J’xz\_ 2 (b) % Vi o ‘%log x+¥x’ —d’[+e
(iii) TN (©)  sec'x
: oy 1 a+x|
(iv) Simplest form of (d) = i
ek 2a a—xl

CO'[;]{ 1 ],x>1
]

= 1 X
(V) _[sz —a® dx (e) 2a &

= e
A 5 2 SN == C
(vi) I‘/;—:— dx ® a

b A / 2 2 a’ . =1 X
oid 75— PR ey €
X —a
r‘.'l

h . tan ! x+C
(h) P %
= '() | tanTaty

T . - (ELo,>*
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@sm/mﬁwaﬁm: 1 g

(1) STdaDhd THIeh LT ——+2y—smx &7 gHAd UTh fafag !

(if) aﬂaﬁ%mﬁﬁs@rmﬁwaﬁﬁﬁmmﬁwﬁwéﬁm
&1 e faraul

Gi)) f(x)= x*, xR muﬁ%’fffwﬁﬂﬂﬂqﬁwl

(iv) afs 4 o B @ U meAd ¥ Wl Ac B 9 P(A)#0 P(i)
%1 == @ enm, fategl

(v) 3R x-Li+j+k} s EE WY § @ x Bl A ﬁﬂﬁg"{l

i N\ N\ /\ VAN N/ VAN /N /N
(vi) i-(jxk}r j-(ixk)—kk-(ixj) %1 " ATl

. : 2 A )
(vii) sramd HHDHT xyjd;;” = —y-czx-=0 #1 T faragl

Write answers in one word / sentence:
4 ; dy L
(1) Write the mtegratmg factor of differential equation ¥E 2= 2 y = SN X8

(i) Write the number of arbitrary constants in the partlcular solution
of a d1fferent1a1 equation of third order.

(iii) Write minimum value of the function f given by f (x)= xX xeR.

(iv) If 4 and B are two events such that 4= B and P(A4)#0, then

write value of P(—%}

(v) & Ly (’,\Jr /J\+ ﬂ ‘s a unit vector, write the value of X0

(vi) Write the value of /I\L?x /12) A ?(’,\x ;’;}4_ @(’l\x /J\)

(vii) Write the degree of differential equation

d*y j dy dy
T x(dx) >
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6 ol (f~2j+3kJ am[ﬁ_z}u?Ja;enamaﬁwamaam. 2
0
Find the aﬁg}e between the vectors [?—2}+3ng and (3 ?—2}+/€J.

syt /| OR

qieet (+3j+7k @i, @fesr 7?—}+8/€ T Y&Y ST B |

A

Find the prbjection of the vector i+3j+7k on the vector 7 j+8k.

7 %gﬁma%ﬁuﬁmﬁsrzz—1+4k@fﬂﬁr%aaﬁﬂ3z+2] 2k FRWMATE 2
TTE T 1 TEYT T F T S S|

Find the equation of a line in vector form that passes through the point

A

with position vector 2i— j+4k and is in the direction 3i+2j—2k.
s | OR

t’,:./_iv —1 +2 . =
; 8%3(@'1 x;rszy“;z:ilam-%:y2=z3 TR @S E

Show that tﬁe lines

x+5_y+2_ /4 Xk Mo 1 AR A R
-5 -1 —15:. 504 48
perpendlcular to each other.

8 fug FRTT 5w whel wad S {123} > {,2,3} sfad w9 A 2
reEEd O Bl

Show that a one-one function f:{1,2,3} —>{1.2,3} must be onto.
sy /| OR

g @ifg ﬁﬁ e {1,2,3) # {(1.2), (2.1),(2,3); (3.2)}

T vEd gy R wAf ¥ fhg 7 W ¥ S T WhrE F
Show that the relation R in the set {1, 2,3} given by

{(1, 2N (2:0)5 (2 3) (& 2)} is symmetric but neither reflexive nor

transitive.
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1+x

1__
9 firg ®MT tan ' Vx =%cos_1 (__x_j, x e]0, 1]'

Prove that tan' 1/; =lcos_1 (1—xj’ X € [0’ 1]'
- 2 et

st /| OR

~

i oA 1
HH SIdC SIS tan 1\:2 cos (ZSIH lzﬂ

. A |
Find th_\e\value of tan™! [2 cos [28111 IEH &
10 RU T GG B x, y, z A4 B W TR BTG, AR = 2

i

Solve the given equation for vy azaand (i 1t

e ey e 3 s
o A ) 406 N

) 0 ;

A_ LS| 42 , i
amegE A= 5 ﬁﬂlﬂaliqawﬁﬁ(A—A)@ﬁTW'ﬂqﬁﬁ
aE el

et gl D : _ N
For the .rpatrlx T verify that (A—A) ts a skew symmetric

. (/3
matrix. .

e
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11 3 2x+3p=sinx & 5 & o
: dx il ' 2

If 2x+3y='sin X, then find %
| x

s [ OR
e x = acos 0, y=asin 0, aQ % S sty
i

d
If x=acos®6, y=asin 0, then find _y-
; B

12 frg BT R 9T S (x)=3x+17 & wem wow aaw ¥ 2
Show that t(h’e? function given by f(x)=3x+17 is increasing on R.
= Fqyar /| OR
fog #fe 6 ye@ waq f(x)=cos x s (0, n) ¥ =sEEE B

Prove that the’ function given by f(x)=cos x is decreasing in (0, 7).

13w gq B PR 07cm/s B W A T @ B R RE AR 2
H X H 5, 9" r=49cm s ?

The radius of a circle is increasing at the rate of 0.7 cm/s. What is

the rate of increase of its circumference when » = 4.9 cm?
YAt / OR

@gﬁaﬁéﬁrww@f 3cm/s B T W T W | TG DT
QHWW%HH@%W%WWZO%%I

The radius ‘of a circle is increasing uniformly at the rate of 3 em/s.
Find the rat’éi at which the area of the circle is increasing when the

radius is 20 cm.

/ 1.0770_D 1n 000 0 0







16 I
%g(l,»_l)%www&awwwwmwm
HdchoT |

TR xdy:(2x2+l)dx,(x¢0) 2

Find the equ '
quation of the curve passing through the point (1

differential Cquation i S
is xdy = (2x” +1)dy,(x %0),
st /| OR
HIBT “GHIBOT d—x+;=x2 b1 AUH A T PIT|
s th? general solution of differential equation,ﬁ;d—yJrl —
, 57 5
17 amﬁla T fre Aew e wwen @ e a?ri%m

M= sl & siaila

x+y<50

36 yES 90N = 08y >0

Z=4x+y T ARIBAT HF A BT

Solve the following linear programming problem gréphically :
Maximise =4 x5 \

Subjecf to the constraints :

x+y<50
3x+ys90, i Oy =0

sty / OR
aaaﬁeﬁ%semﬁa Z=3x+2y @ SIfubddieier St
x+2ys,10, 3x+y=<15 x,y =20
Maximizé 7 =3x+2y subject to the constraints :

x+2y<10, 3x+y=<15x,y 20

/ 1-0770_D 13 (A
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18 @ &1 ot Il Ry ¥ 9% 1 & 3 @ o 4 wreht R ¥ v 3
MILH S A oiR 6w WO el S 4 A @ A P
T ¥ SR W 1@ @ aw @) @ witar § 6 g AT I
§ Prawht ¥
Two bags I and II are given. Bag I contains 3 red and 4 black balls,
while another bag II contains 5 red and 6 black balls. One ball is drawn
at random from one of the bags and it is found to be red. Find the
probabi!ity that it was drawn from Bag II. V

\ ‘ sa /| OR
52 Wl A o qTE % T T ¥ A wp B W T S 0 R e
%qﬁéﬁi@rﬂmq%ﬁﬁu?ﬁ%mm%@?ﬁﬁwwaﬁaﬁ.wmm%?
Three cards are drawn successively, without replacement from a pack

O[S, well shuffled cards. What is the probability that first two cards

are kings and the third card drawn is an ace?

D m%mﬂ@r%x2+y2:a2@rfﬁéaaﬂémaﬁaﬁﬁm 3

Using ifltegration, find the area enclosed by the circle X2+ Ve g

syt / OR
. ¥ P
FAIHE % U e :*b_zl.%ﬁ%ahwémamﬁml
: et 28200
Usingintegration, find the area enclosed by the ellipse ."—2+y~2=1
a b &
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> N R
20 el r=6i{r2j+2k+x(/z}—2/]\‘+22j 3T

:—4i—k+\l,u(3i—2/j\'—2;;j % 9 @ =FEE g0 TE @R

Find the shortest distance between lines

=
i

— A A

: DA A N A = NA 4 (Y
r=6l+2]£2k+7\, 12 j+2k|(and ri=—4 i=k | IESZEE 2N

D syar /| OR
P &1 9 amfjc_f?rﬁrrq GUEAREC] L
Iy 14 3 T=Tx" y—5" 6"z S
3 Y PR R et e SKGT QR G
Find the value of P so that the lines

I i A Z 3 q il X8 Vs 20t Om 2
3 2Pi@iof  SdgaP 1 5
are perpendicular.
SN |

1 -2 2y~
21 H%A=ﬁ ij,B{_l 3},&%%@%(143)‘;3-1[1 4

233 ik = i
If A=[1 4} B=[ 1z } then verify that (AB) = B U0

: s /| OR

R T s whw few B g fafr @ '@ @i
Sxen2 Y= 48

Ix+3y=15 {4 N
Solve, given System of linear equations, using matrix method :
5x+2y=4

7x+3y =5
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diy g o
22 3w y=3cos(log x) + 4sin(log x) ¥, df =F9rfzd x2?—+x;+y—0

| d? d
1 2 y _l —
If y=3cos(log x) + 4sin(log x), show that x ;2—+xdx+y 0
dquqr /| OR

aambﬁasﬁﬁaamaﬁﬁiqmﬂsm

axs1logiy <3
f(x)=

bx+3 3y x>3

TR 99T %o x=3 WX 9dd &

Find the relationship between a and 5 so that the function / defined
by 1 :

ax+1 if x <13
f(x)_{bx+'3 §e o Sass]

1S continuous at x=3.

23 HME 3G BT

Evaluate et
5 ,
IO xN2—xdx |
= s /| OR
HHE S DINg
Evaluate

_[x tan~! x dx ‘
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